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™ ~"  MARKING SCHEME
o , PRE-BOARD EXAMINATION-2019-20
. CLASS : X
SUBJECT: MATHEMATICS (BASIC) (241)
- Time Allowed : 3 hours Maximum Marks : 80
: G;ueml [m.‘tru}.'ﬁons.'
3 : 1. The marking scheme provides general guidelineé to reduce subjectivity and

maintain uniformity. The answers given in the markingscheme are the best
suggested answers. The content is thus indicative.

2. Altemate methods are accepted. Proportional matks to be awarded.

B In case where no answers are given or answers are found wrong in this
Marking Scheme due to misprinting, correct answers may be found and used
for valuation purpose.

SECTION-A
. (@ axb ' 1
2. () (Ob) - - l
RO ) sse 1
4. (b) 4 1
5. (a) 1 1
6. (b) 20-30 1
4
7 by - o 1
(b) 5
8. (b)) 6 . ' 1
9. (). *¥-3x+2 o ' 1
10. “(d) " more than 3 . | ‘ ]
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Rhombus 1
e ;
NE]
15. Parallel 1
_ 16 No, because difference between ponsecutive terms are not same. 1
17. Correct statement - 1
18. 0O , ' 1
19. . cot B =cot (90° - A) Z.
tan A= -3—‘) N Va
'y ‘
o __.// :
— 4 OR
0
20. Radius of semicirele =7 cm Va
' x,-»-’{erimeter = 2;]2- %7 +14 =36cm Ya
4 ' SECTION-B
71. B A=B =30° (1) ' 2
A+B=60° - (i) Ya
From (i) and (i), A= 45° and B =15° 1
C "OR
2 X-MATHS-E
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JCosec (90° - A) = cosec (A - 20°) l

) A =55° 1

2. r+h=37 | 2
=h=037-1rcm

1628=2><E_;1><rx37 A

. i "

h=30cm Vs

Figure ' Ya

BC = /(5)° —(4)* =3cm 1

AB=2x3=6cm v,

Correct proof
24. 52 complete weeks'in a leap years and possibility of remaining 2 days be

(Sunday, Monday), (Monday, Tuesday), (Tuesday, Wednesday),
(Wednesday, Thursday), (Thursday, Friday), (Friday, Saturday), (Saturday,

Sunday) 1
. C 2 -
P (53 Sundays) = 7 : - !
25.  Quotient=(2x-1) : 1
- Remainder =3 1
3 ' X-MATHS-E
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Possible outcomes = HH, HT, TH, TT I

P (exactly one head) %

|
SECTION-C
6=2x3
72=2%x 3?
120=2*x3 x5 1
‘HCF=2x3=¢ 1
e ligas LCM =27 x 32 x 5 =360 ]
335 OR
w Correct proof -
: d
- 28. Let—=aadl=p | %
‘ X y £
2a+3b=13 ..(i) Y%
| Sa—4b=-2 (i) Y
Solving (i) and (ii), a=2 andb=3 | | P
5 Therefore, x = land y= L, | ¥ %
29.  Coordinates of Diis (3, 5) Y
Coordinatésof E =(6,4)  ERY - v
Area 0f AADE =‘—:1,‘- $q.units | g
30. Correct proof : | '. 3
OR
Correct proof

| : 4 X-MATHS-E
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/él/p(x)=2x“'—3x3—3x2+6x 2 | 7/"“/"[;:/%
4 (X—\/—)and(x+\/—)drethe faclorsof'p(x)g, - o

So, (x* - 2) is also factor ofp(x)

p(x) = (x’ - 2) (2x* *3x+1)
= (x =V2)(x +V2)(2x — 1)(x ~1)

8 R v /’1;"\ ¢
So, zeros of given polynomlal are /2, 2, Y% and 1 5 i XU " o
. s
32.  Correct proof, = B
Y~
33.  Correct construction of AABC, /l[
Correct construction of similar triangle. - 1%
OR
.Correct construction of circle, [
Correct construction of tangents. 2
- 34, Area of shaded region = area of quadrant OACB — area of AODB. 1
g =22><_>.5><3.5><90 ——1—><3.5><2 . ' 1
i : 7%360° y)
=6—cm iz
- "SECTION-D
35.. D=(=2)-4x%x3x(-8)=100>0 | " 1
Roots are real. _ ' ' ‘ 1
L —(=2 V100 " :
- 2%3 o |
x= 2N 1
. T ﬁ :
r" = )~ |)
' '@\L’L) é% o | X-MATHS-E
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S, = 700, n=7andd=-20
< 0
700 = 5[23 +(7—-1)(—20)

a= 166

So, value of each prize is 7160, 2140, 2120, 7100, T80, 760 qazdon’ 1%
- OR .

a=121 andd=117-121=-4 |

a,<0

121 +(a-1) 4 <0

125
4 y

So, 32" term of given AP, isits first negative term.

37. Figure
, ‘ A

hm

e h mand length of road, BC = 80m.

Let heightof each pole b
LetBE=Xm and ED = (80-x) m

{h AABE, tan 60° = %

X-MATHS-E
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Px=h (i) : 1

In ACDE, tan 30° = : -
* 80—x
80—x : ‘
=h (10 1
= (ii) N _
From (i) and (ii), x =20 therefore h=20+/3 m ™ | 1

38. Let the radius of sphere be r cm.

Volume of sphere = volume of cone . , 1

\ |
\ =6
R 20 =16y x24 ) ., 1
. ik EA :
1 55" r==6 cm
; OR
r=3lcm,h=4cm &
1=5cm : R - | 1
C.S.A. of cone = nrl = 15 nem? | 1
CSA ofhemi=18rem® . ,, 1
T.S.A =151+ 18n = 33mem? | 1
' | g | : . ‘ 7 ' X-MATHS-E
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Profit (in lakh %)

Number of shops

Less than 10

2

Less'than 15

Less than 20 16
Less than 25. 20
- Less than 30 23
Less than 35 | 27
\ Less than 40 30 J

(40, 30).

Jo'u} them.

40. Correct figure, given, to prove, construction J‘V ~H
' 7
© N

Correct proof

Draw points (10, 2), (15, 14), (20, 16), (25, 20) (30, 23), (35, 27) an;i
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